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A & 0l & AF 2 E A A
20218 = =0l &b L BHeI A A
A=: ool SN eIREHY
Hu: JDFUANLEN (UVTIYH /YY)
SHol: QI RH ALY ET (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
ool 8 == 781,554,559 784,603, 121 A 3,048,562
= 460,625,688
s 6,042,000
J| 37,631,406
< 277,255,465
ol @t 6,697,216 4,989,496 1,707,720
= 27,647
s 2,890,000
< 3,779,569
QIR MAIA FX (LB HE /LBt H) 1,235,426 2,084,496 A 849,070
= 27,647
= 1,207,779
QIR ALY =2 1,235,426 2,084,496 A 849,070
= 27,647
= 1,207,779
HEMI=2ASZ2/0I=S 1,065,000 1,940,000 A 875,000
201 Let2d] 200,000 300,000 A 100,000
01 At 2t 2l 200,000 300,000 A 100,000
pt=2Hl 200,000
Os&EHABH 200,000
207 & 74 2l 60,000 0 60,000
01 289 60,000 0 60,000
OZ4SEAFFMIZ2HEEHHARESR 60,000
307 21201 A 275,000 445,000 A 170,000
02 QB AAFEX 125,000 235,000 A110,000
OolehMOe 2= 50,000
SSFO0AU A EH 35 15,000
ONSI=HE I 60,000
04 DIZHHALALSE E X 150,000 210,000 A 60,000
OsM4EHUCCME R ENS2H 50,000
OF&EdHeg X 50,000
OCHSO0I ot =0 & X 50,000
308 XXM SOIA 230,000 395,000 A 165,000
01 IXNHHBNEES 180,000 260,000 280,000
ONSMI=32AEY 120,000
el E At 20,000
CIOIOIATE IS U =M 40,000
08 WFJ|20UetE=x 50,000 100,000 250,000
RCI R Fal=gsigmi-_ge: 50,000
403 UHXSHHSA=0l& 300,000 800,000 A 500,000
01 HXSHMA2E X 300,000 800,000 A 500,000
OMSMUSIEIRSSI2AY 300,000
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ool 8 =s= 2A Ini;
NSAdES=R (Lotz sy /Aot F
NLABHEFT cHol a9l
S .SA Y. B (BH) - NEAY il HZS2
01 AFR2 22l Yl 43,400 0 43,400
et ZH| 13,400
ONgAZUHSSEHERNRAUS 7,400
ONgAEHS A/ G FO 6,000
R E=y 30,000
ONSASUHSAS LSO &ALG 30,000
03 S AIS H H| 20,000 0 20,000
OXgAss8iisdHTHA 20,000
207 A O Y| 140,000 0 140,000
NEEEEETI 140,000 0 140,000
DFMscHLLALUS TSNS 140,000
403 ItXIHXM S K201 & 300,000 0 300,000
01 "X SHMAA2E X 300,000 0 300,000
OH=E 2 IIZ2H T HAIE 300,000
Ol ZAIEANEOIESEY 4,857,000 2,905,000 1,952,000
Fax 2,890,000
& 1,967,000
OlZAIEAEOISES 1,100,000 931,000 169,000
201 LEt29Y| 10,000 56,000 A 46,000
01 AFR2 2t 2l bl 10,000 56,000 A 46,000
Jggt~Zl 2,800
OO0IZAIESAEISZE2E N ZNES 2,800
OJ2g=g 7,200
OO0IZAIEANEOISTLHEERAR/II2IE LY S 7,200
308 AXISHXMSOoIHA 315,000 375,000 A 60,000
01 AIXHMBAEEXZ 315,000 310,000 5,000
COJOIRAIEAIEOISE H =S Z 10,000
OOOIZAIEAEOISS2AXNJIZZ I 130,000
COOIZAIEAEOISEEEHAAMY 30,000
OGS AISEHOIS L Al At 95,000
CJOIZAIEAEOISZESEJATY 50,000
403 ItXIHAM S K201 & 775,000 500,000 275,000
01 AIXISHMA2E X 775,000 500,000 275,000
OJFGAYHISL XA (2l2gE) 75,000
OJEF=AHZ22tXHA 500,000
CJOIRAIEAIE OISO 2 S UMY 200,000
HAOADASNHETYAS (S YY) 419,250 386,750 32,500
ax 322,500
& 96,750
308 AHXI S SO0l & 419,250 386,750 32,500
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N = 0] &F AF S & AN A
20218 &= 20 A LUHSH Al
AR OOl ER 2A OOl Al & XI & 1t
HM: Ol=s=2F2MH(ME=2X/BEE - IIELHY)
ool SSMUIAN CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OFOI Ml &+ XI & 1t 724,654,621 730,300,345 N5,645,724
= 456,778,663
Jl 10,640,231
& 257,235,727
Ol=s=ss2dM(AMaEX/ES - IIELHY) 29,484,927 29,628,275 A 143,348
= 22,641,412
J| 651,319
o 6,192,196
sSsNHHAXH 29,484,927 29,328,275 156,652
= 22,641,412
J| 651,319
o= 6,192,196
OlolSEXNAAMNY(Z) 310,341 230,714 79,627
= 217,239
= 93,102
307 QI2t0| & 310,341 230,714 79,627
= 217,239
= 93,102
11 A EXAIEE X 310,341 230,714 79,627
OO0 =S XNSFANEEEHEI I H2IEXA 310,341
= 217,239
& 93,102
OLOlSE XK ALY (AlZ) 25,157,971 22,546,547 2,611,424
= 22,291,873
= 2,866,098
308 XAHXIEH SOl A 25,157,971 22,546,547 2,611,424
= 22,291,873
o= 2,866,098
01 AIXSHMEMNEX= 25,157,971 22,546,547 2,611,424
ool X 25,157,971
= 22,291,873
o=} 2,866,098
oolsseEEE2832 2,699,200 5,971,000 N3,271,800
308 XAXIGHMSO0I& 2,699,200 5,971,000 N3,271,800
01 HXHHIMNEXS 2,699,200 5,971,000 N3,271,800
OO0 =822 82 2,699,200
A2INESHXNH 72,000 72,000 0
308 MXISHMSOIA 72,000 72,000 0
01 XHHIMNEEXTZ 72,000 72,000 0]
O3sS0lUsSEHSIG XA 72,000
2Ss0ILUsH2Y 846,715 508,014 338,701
J| 651,319
= 195,396
308 XHXIEHSOIA 846,715 508,014 338,701
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bl

SO0l g =E= EAM : OtOIMI & XI& 1
P OlSESsEM(MIEX/EE - 0tE
D SSMHAXE

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 651,319
< 195,396
01 IXNHHBNEES 846,715 508,014 338,701
sss0tLuseH=29Y 846,715
J| 651,319
< 195,396
OLOI Al & R & =& Z I 4,320 0 4,320
203 YR =& 4,320 0 4,320
03 Al =AY 2= 4,320 0 4,320
CIOLOI Ml &f XI & Al 28 = &1 R = &l | 4,320
CetNss(8Fn-AAMES2d)l2Ad X & 308,880 0 308,880
= 118,800
< 190,080
308 A EHHSOIA 308,880 0 308,880
= 118,800
< 190,080
01 HIXNHHNBHEES 308,880 0 308,880
OUsgiNss(stu-ANMgg2d)o Ay XA 308,880
= 118,800
< 190,080
OGeENss(stu-AAMEEd2L)2 S A 35,100 0 35,100
= 13,500
< 21,600
308 XXM SO0 A 35,100 0 35,100
= 13,500
< 21,600
01 IXNHHBNEES 35,100 0 35,100
OUgHNss(83u-ANMggd)2 g X 35,100
= 13,500
< 21,600
QOELHSHEO00IS20I XA 50,400 0 50,400
308 XX EHH SOl A 50,400 0 50,400
01 X HHILEES 50,400 0 50,400
OZ0tELHMEESO00ISE0I X 50,400
SRS HUYSA(AMISRN/ES - HSLHY) 497,437,652 500,892,320 A 3,454,668
= 301,601,430
< 195,836,222
SMEIAX R 492,627,188 494,573,409 A 1,946,221
= 298,513,304
< 194,113,884
ESTHMLAYAZ X 5,000 5,000 0
201 2et24d] 5,000 5,000 0
01 At 22l 5,000 5,000 0




AR OOl ER 2A OOl Al & XI & 1t
HM: BSUSHEAUST(ASEX/ES€ - IIELAHA)
o9l BSMHIAX (e9: & 9)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
Oeds¢ 5,000
OESIMAAS LU 5,000
BEERSSFIANY 7,200 7,200 0
201 et d| 7,000 7,000 0
01 AP 2t 2| H| 7,000 7,000 0
Ogst=2H| 7,000
OBSLIESTXHMHS 3,500
OZ2Z28Hel ol S IHH & 3,500
303 ZA& 2 200 200 0
01 A2 200 200 0
OESS33R2AIY 200
Hel ol n@SFH XS 170,000 171,930 A 1,930
= 85,000
= 85,000
307 QI2t0| & 170,000 171,930 A 1,930
= 85,000
& 85,000
11T A EXAIEEX 170,000 171,930 A 1,930
OJHE oM AL XA 170,000
= 85,000
= 85,000
SOHZSSANFLMH2IG (L) 485,608 462,264 23,344
= 242,804
o 242,804
307 212t0| & 485,608 462,264 23,344
= 242 804
o 242,804
10 M SXNANEEHESIHEX 485,608 462,264 23,344
O0ISEXNFHEH2S 485,608
= 242,804
= 242 804
SIS XNIALMEH2IG (A Z2) 127,400 102,375 25,025
= 98,000
= 29,400
308 XX G SO0l A 127,400 102,375 25,025
= 98,000
= 29,400
01 AIXISHHEMNEX= 127,400 102,375 25,025
OANZS0EEXNAdH2E 127,400
= 98,000
=} 29,400
HEOIE UM RAKE (Z) 3,085,200 2,968,000 117,200
= 1,542,600
= 1,542,600
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40 5 4

Coola =
P BR0ISHUBH(MEEX/2S - HELHA)
D ESMHIAXE

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

307 glz2tol & 3,085,200 2,968,000 117,200
= 1,542,600
& 1,542,600

11T M SXASE EX 3,085,200 2,968,000 117,200
OO Ol E O A W AFXI & 3,085,200
= 1,542,600
< 1,542,600

ESUAHAANHYI XA 66,594,103 60,732,042 5,862,061
= 45,631,000
< 20,963,103

308 XXM SO A 66,594,103 60,732,042 5,862,061
= 45,631,000
< 20,963,103

01 AXHHBILEES 66,594,103 60,732,042 5,862,061
O HAACNAHIX & 66,594,103
= 45,631,000
< 20,963,103

EKNAAHR2MA 53,959,274 42,907,379 11,051,895
= 36,977,900
< 16,981,374

308 MtXIEHMSOIH 53,959,274 42,907,379 11,051,895
= 36,977,900
< 16,981,374

01 HXNHHNBHEELS 53,959,274 42,907,379 11,051,895
== IMESEC DS Fal 53,959,274
= 36,977,900
=) 16,981,374

Helold2g X 2,370,516 2,363,305 7,211
2 1,634,000
< 736,516

308 XX EHSOIA 2,370,516 2,363,305 7,211
2 1,634,000
< 736,516

01 HIXNHHBNEES 2,370,516 2,363,305 7,211
OdeolE2E XN 2,370,516
= 1,634,000
< 736,516

dRoEssXNd 212,425,279 223,642,506 A11,217,227
= 170,919,000
= 41,506,279

308 XtXIEHH SO0l A 212,425,279 223,642,506 A11,217,227
= 170,919,000
= 41,506,279

01 AXHHBIYEES 212,425,279 223,642,506 A11,217,227
ggsoteszNd 212,425,279




ool =R
D BROISAASI(MSAZX/2S - HEL0S)
'OLJ

- g
-

S MHIAX

AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
= 770,919,000
& 41,506,279
N9 44,645,881 48,289,585 N 3,643,704
= 35,940,000
T 8,705,881
308 AXISHXMSOIH 44,645,881 48,289,585 N 3,643,704
= 35,940,000
T 8,705,881
01 AXHNBMNEXTZ 44,645,881 48,289,585 N 3,643,704
O824 44,645,881
= 35,940,000
& 8,705,881
A S 84,200 144,000 A 59,800
307 212t0| & 69,200 104,000 A 34,800
11 A SAAEE X 69,200 104,000 A\ 34,800
OO0l AE 3 e AY 11,200
Oe ol 2ndsHIS 28,000
OOt ESEIAMNASEZH 9,000
OB SSHEZ S 14,000
OgodeEsnddA=3 = 7,000
308 AHXI S M SO0l & 15,000 40,000 A 25,000
01 AIXHMBAEXZ 15,000 40,000 A 25,000
O3 15,000
EFNNIAAASE 4,724,160 4,733,910 AN9,750
308 XX S M SO0l & 4,724,160 4,733,910 N9,750
01 AXHNBNMNEXZ 4,724,160 4,733,910 AN9,750
OudaA-9 R 4,644,000
OO EES U ASESY XA 80, 160
FOISEXNJHAHE S S 618,230 888,000 AN269,770
307 QI2t0| M 616,730 885,000 A 268,270
10 M SXAEEES2IHIEX 200,000 300, 000 100,000
OSSN JHEHSEH X 200,000
11 AMISAAEE X 416,730 585,000 A 168,270
OFROISSANHMgHEZ )1 HSA 306,730
OeloldEitxgaz )& 47,000
OeldnsZ2 )& 56,000
ESAAH X225 7,000
308 XX S M SO0l & 1,500 3,000 A 1,500
01 AXHMBIAEES 1,500 3,000 A 1,500
OdeloldEitxdoz )X 1,500
FHUASRE MG 92,764,731 93,744,627 N 979,896
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Dol s
[e]

o
EK0sHAST(AMIEN/ES - IHELUHHL)
ESMHIAXA

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 92,764,731 93,744,627 A 979,896
01 HIXNHHBHNEELES 92,764,731 93,744,627 A 979,896
OEs0ots=22t4altl 1,836,000
ool & Xt &= Xl bl 49,200
OEs0sHEMH=I1E & 4,000
OOssoeoldx e gl 76,320
OXMHOtsSHE Ol E LY A= SKE 19,200
O ol d&ZMddl X 188,040
CJZONOtE S 2l 0l & Il Al A HI 92,000
Oogol&detd 3 Ml 45,000
O5clntd 86,274,240
Ogun=sEsaz 81,900
OES0tsdsH X2 75,231
Ooeol¥gorer2 S HI A& 1,501,440
Le~she2f2gd2sa2 X 2,522,160

T2 6,568,000 6,696,960 128,960
= 4,447,000
< 2,121,000

308 XtXIEHH SOl A 6,568,000 6,696,960 A 128,960
= 4,447,000
= 2,121,000

01 HIXNHHBHEELS 6,568,000 6,696,960 A 128,960
O32E0HeoEXA 6,568,000
= 4,447,000
< 2,121,000

FREUHEH2IE 75,400 79,170 N3,770
= 58,000
< 17,400

308 XX EHH SOl 75,400 79,170 N3,770
= 58,000
< 17,400

01 HIXNHHBNEES 75,400 79,170 AN3,770
FILHEH2SE NS 75,400
= 58,000
< 17,400

ANZRHESAIG 220229 38,874 37,306 1,568
= 19,437
< 19,437

307 21201 A 38,874 37,306 1,568
= 19,437
< 19,437

10 ALSISEXAIEEE2GHEX 38,874 37,306 1,568
OAZHESAME 222 38,874
= 19,437




M ox
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Coola =
P BR0ISHUBH(MEEX/2S - HELHA)
D ESMHIAXE

A= 2A - BB SAEH) - NPAY - BES 0l &t o il HDEZ
| =) 19,437
ANZHESX& 1,194,132 802,550 391,582
2 918,563
< 275,569
308 AHXIEHHSOIA 1,181,132 802,550 378,582
2 908,563
< 272,569
01 HXNHHNBHNEELS 1,181,132 802,550 378,582
OANZIHES X2 (2 4 1,181,132
= 908,563
= 272,569
403 A X EHS =0l A 13,000 0 13,000
2 10,000
=) 3,000
01 X S22 = 13,000 0 13,000
OAMN2HESX 2 (XH2) 13,000
2 10,000
< 3,000
ooz XA 2,684,000 5,715,300 A 3,031,300
308 MXIEHSOIH 2,684,000 5,715,300 23,031,300
01 HXNHHBHEELS 2,684,000 5,715,300 A 3,031,300
Cotol#==<01 X & 2,684,000
glolged e 4,810,464 6,318,911 A 1,508,447
= 3,088,126
=) 1,722,338
oeodes 2,766,824 5,059,461 N2,292,637
= 2,128,326
< 638,498
403 "X S H S0l & 2,766,824 5,059,461 A2,292,637
= 2,128,326
< 638,498
01 AR SHHA =22 = 2,766,824 5,059,461 N2,292,637
Oogold=esAd 2,766,824
= 2,128,326
= 638,498
Hel ol & s (Mas0c=gst) 673,200 0 673,200
= 561,000
=) 112,200
403 A X EHS K= 0l A 673,200 0 673,200
= 561,000
=) 112,200
01 AXISHHA=2E = 673,200 0 673,200
O0E 0l &S A Y (MESICEE 3tH) 673,200
= 561,000
& 112,200




ool == SN ¢ OtOIAl &8 X1 & 1t
EK0sHAST(AMIEN/ES - IHELUHHL)
Helolg&adins CEE-ED
- _ — d =
SN P SAGEH) - HRAY - BYS 0] &k o4 e HlDE2
goldaadno 518,440 564,200 A45,760
= 398,800
< 119,640
403 UHXISHHSA=0l& 518,440 564,200 A45,760
= 398,800
< 119,640
01 HXESHMA=LE L 518,440 564,200 A45,760
Oogolgstgind 518,440
= 398,800
< 119,640
28Js&s8 852,000 120,000 732,000
308 XXM SO0l A 792,000 0 792,000
01 IXNHHBNEES 792,000 0 792,000
OFHI=A22d 792,000
403 A X EHHS =0l A 60,000 120,000 260,000
01 X SHHX2E = 60,000 120,000 A 60,000
OFHZEH2EX 60,000
HESOISSHLES (M S/ =0 - HAH) 170,236,047 172,997,887 A2,761,840
= 131,732,260
J| 3,092,934
< 35,410,853
AU LA 2,472,320 2,497,461 A25,141
= 82,433
J| 982,138
< 1,407,749
HAANESOsAHESH 1,216,620 1,327,920 A 111,300
307 21201 A 862,220 862,220 0
10 ALl SXAIEEE2EHEX 825,340 825,340 0
O ERKAEXNJHAEH2 S 825,340
11T MISRASEX 36,880 36,880 0
ONEASXNBUEHS A== 26,880
OLANNEAE X2 10,000
308 XX EHHSOIA 354,400 465,700 A 111,300
01 HIXNHHBNEES 354,400 465,700 A 111,300
OFEAELEIE 150,000
OFAHSOHS KR 24,400
OMEEESSZE0IsHEEHESAE 180,000
AA=XRA 42,000 48,500 6,500
307 glz2+ol & 35,000 35,000 0
06 283 35,000 35,000 0
DggosyiiZa2 e 35,000




AR OOl ER 2 A : OFOI Ml &K & Dt
Hu: HAMBOISRAUDS (AE SN /w0l - HAl)
Sl JIE IS UK CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 7,000 13,500 AN 6,500
01 AIXSHMENMNEX= 7,000 13,500 6,500
OgAdots=sot2 A& 7,000
QIO IIE X & 1,108,413 1,014,103 94,310
J| 982,138
& 126,275
308 XAHXIGHH SO0l & 1,108,413 1,014,103 94,310
J| 982,138
& 126,275
01 IXHHIMNEXS 1,108,413 1,014,103 94,310
OgotsIIEXA 1,108,413
Jl 982,138
= 126,275
I8 AE OIS AN EE SN 58,361 61,750 A 3,389
= 40,853
= 17,508
307 QI2t0| ™ 58,361 61,750 A 3,389
= 40,853
o=} 17,508
06 282 58,361 61,750 N 3,389
OJIEfEIsdlEE =S XN 58,361
= 40,853
& 17,508
UAINAELAE OIS A XS A 46,926 45,188 1,738
= 41,580
= 5,346
308 XX EHSO|IA 46,926 45,188 1,738
= 41,580
& 5,346
01 AIXSHMEMNEX= 46,926 45,188 1,738
O™ AE OIS ACI X B RH 46,926
= 41,580
= 5,346
olsd - 2XsA 167,763,727 170,500,426 N2,736,699
= 131,649,827
J| 2,110,796
& 34,003, 104
=R0I=S=2E 43X 365,000 365,000 0
307 giztol A 365,000 365,000 0
10 MM SAANEEHESIGHEX 315,000 315,000 0
2| 229X & 315,000
11 A EXAIEEX 50,000 50,000 0
[JESEKNSIESHAITZHEALASIR A 50,000
OlsdAsSRNLANSH 237,080 117,080 120,000




: OFOI All &

ol HAW)

SH BB B(3H) - MRAY - B of 4 o4 il HI RS2
201 2er= Sl 62,080 12,080 50,000
01 At 2t 2l bl 62,080 12,080 50,000
Oget=&H| 55,000
Ooots=XgF+H 5,000
oots=lstEE 50,000
g 7,080
Oots=XNaAA+=ZHUHIS 7,080
307 glztol & 175,000 105,000 70,000
M AMSIMNSEER 175,000 105,000 70,000
SO 0IHeHH 25,000
O 20l & At 150,000
SSHMZH AR 150,760 147,543 3,217
308 XXM SO0I™ 150,760 147,543 3,217
AXSME o2 X 150,760 147,543 3,217
Olsots2sd 40,320
Olsots2ad 110,440
|[dots2HA =4 2,703,771 2,730,646 N 26,875
307 212t01 & 158,000 183,000 225,000
10 M SXNANEEE2SHES 90,000 90,000 0
OOSESXSANLE2S X 20,000
OosAENALMH2E XS 70,000
M ASIMSEER 68,000 93,000 225,000
DESSa0SA=2C I FHE 2 LMY 20,000
Od=ANEL0otSHE=U X2 10,000
OANEorsSE =R A 10,000
OO0tSS XA E SAIHA == 20,000
OO0SSEXNANESANHRRNF 8,000
308 XXM S0IH 2,545,771 2,547,646 A 1,875
01 HAHHB&Ex 2,545,771 2,547,646 1,875
OO sLFAE2 2,133,424
0 OLS AL 42,884
OO0 sSEXAES 227,880
OEA0sUHEIISNE 75,000
OMI2E0SLEAELSS2=sAE 2,160
Ootssttis2asd A XA 4,320
OsftiuoiotsSa UM A S X & 5,023
Oots=XALd g X2 55,080
O0tsd& A4 5,760
OXlgotsdH 49,320
LIESHsSIAEE=EX 517,145 400,200 116,945




AR OOl ER 2 A : OFOI Ml &K & Dt
Hu: HAMBOISRAUDS (AE SN /w0l - HAl)
o9l OIS - ZXNBT (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 356,652
& 160,493
308 XHXIEH SO0l A 517,145 400,200 116,945
J| 356,652
&< 160,493
01 AIKSHHEMNEX= 517,145 400,200 116,945
OcEsoslsEsed i 517,145
J| 356,652
& 160,493
StOloiolsa2H2H 575,627 625,182 AN49, 555
J| 396,985
=} 178,642
308 MXISHMSOIA 575,627 625,182 AN 49,555
J| 396,985
& 178,642
01 IXHHIMNEEXTZ 575,627 625, 182 AN 49,555
Osttiuloiotsa &Y 575,627
J| 396,985
== 178,642
QESOSNEYX 2 103,569 93,689 9,880
= 91,770
o= 11,799
308 XXIEHSOIA 103,569 93,689 9,880
= 91,770
o= 11,799
01 AIXSHMENMNEX= 103,569 93,689 9,880
OFAHEOSMHE XS 103,569
= 91,770
& 11,799
BsEs0sAHE SN2 1,300,320 1,334,376 AN 34,056
= 1,209,600
& 90,720
308 XHXIGH SO0l & 1,300,320 1,334,376 N 34,056
= 1,209,600
& 90,720
01 AIKSHHENEXZ 1,300,320 1,334,376 N 34,056
O2sEss0sAHEg ==& 1,300,320
= 1,209,600
= 90,720
Ols &< XIS HE X 1,888,718 1,688, 198 200,520
= 1,673,548
o= 215,170
308 MXISHMSOIA 1,888,718 1,688, 198 200,520
= 1,673,548
=} 215,170
01 AIXSHMENEXZ 1,888,718 1,688, 198 200,520




AR OOl ER 2 A : OFOI Ml &K & Dt
Hu: HAMBOISRAUDS (AE SN /w0l - HAl)
o9l OIS - ZXNBT (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
O0tsYE X HIX 1,888,718
= 1,673,548
= 215,170
Z2A0SS AN 13,074,436 7,150,041 5,924,395
308 XAHXIGHHMSO0|& 13,074,436 7,150,041 5,924,395
01 AXHHIMNEXS 13,074,436 7,150,041 5,924,395
OIS EZE5LFA 11,151,100
OogetE s Al 1,224,270
OXY0otsHdEeHS2A X 699,066
Ots=E X WATIA X & 2,202,755 1,996,062 206,693
= 1,694,427
o= 508,328
308 MXISHMSOIA 2,202,755 1,996,062 206,693
= 1,694,427
= 508,328
01 HXHHIMNEEXTZ 2,202,755 1,996,062 206,693
CJotsSEXNWAIIIA X 2,202,755
= 1,694,427
& 508,328
C 2l AEIEAY 4,800,044 5,087,975 A 287,931
= 4,465,157
= 334,887
308 XAHXIEHSOIA 4,800,044 5,087,975 A 287,931
= 4,465,157
o 334,887
01 AIXSHMEMNEX= 4,800,044 5,087,975 A 287,931
OEHAEIEANE XS 4,800,044
= 4,465,157
& 334,887
OEEsdERIAESA 547,871 180,600 367,271
= 509,647
& 38,224
308 XAXIGHMSO0I& 547,871 180,600 367,271
= 509,647
& 38,224
01 IXHHNIMNEXS 547,871 180,600 367,271
OotsSESdLERIERH 547,871
= 509,647
= 38,224
OlssiAdl)Is22d 31,726 568,735 A 537,009
J| 24,405
=} 7,321
403 XX S M S K201 & 31,726 568,735 A 537,009
J| 24,405
o=} 7,321




A= 00l EdE=E= SN ¢ OtOIAl &8 X1 & 1t
HH: AMSISESLLES(AE=EX /0 - FA4)
o9l OIS - ZXNBT (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 31,726 568,735 A 537,009
OotssXAEIIsES 31,726
J| 24,405
< 7,321
CtENESs A X & 1,542,801 461,214 1,081,587
= 1,186,770
< 356,031
308 XXIEHH SOl A 1,542,801 461,214 1,081,587
= 1,186,770
< 356,031
01 AXHHILEES 1,542,801 461,214 1,081,587
Jot==sHHH XA 1,542,801
= 1,186,770
S 356,031
CreNsSs 4 XdX& 1,432,500 1,344,122 88,378
= 1,230,000
< 202,500
403 A X EHHSH20IA 1,432,500 1,344,122 88,378
= 1,230,000
< 202,500
TAXEH =2 X 1,432,500 1,344,122 88,378
OO0t=SsHEXH R 1,432,500
= 1,230,000
= 202,500
CLENsSs22H XA 104,715 31,590 73,125
= 80,550
< 24,165
308 XX EHHSOIA 104,715 31,590 73,125
= 80,550
< 24,165
01 IXNHHBNEES 104,715 31,590 73,125
Ot=SsSH2SH X 104,715
= 80,550
< 24,165
Ole=sSH2I XA 563,760 1,620,435 A 1,056,675
308 XXIEHHSOIA 563,760 741,586 A177,826
01 AXHHBILEES 563,760 741,586 A177,826
dot2==s20U0IEH XA 356,400
Oot==sH22 XA 81,000
OotSSssSHAMI XA 81,000
Oot=SsSHSAMN==E 45,360
NS OtsdH2IHI X2 (EX) 12,968,584 11,962,671 1,005,913
= 9,975,834
< 2,992,750




A= 00l EdE=E= SN ¢ OtOIAl &8 X1 & 1t
Hu: HAMBOISRAUDS (AE SN /w0l - HAl)
o9l OIS - ZXNBT (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 12,968,584 11,962,671 1,005,913
= 9,975,834
< 2,992,750
01 HIXNHHBHNEELES 12,968,584 11,962,671 1,005,913
OXSEotsHEHII 22 H XA 12,764,661
= 9,818,970
< 2,945,691
OXNSotsHEHZSINEEINXA 140,322
= 107,940
= 32,382
OXYotsdESot 2082 63,601
= 48,924
< 14,677
NEOotsdHEZ ML XA 279,500 582,950 A 303,450
= 215,000
< 64,500
403 MtXISHHE X201 E 279,500 582,950 A 303,450
= 215,000
< 64,500
01 AXISHH A2 E= 279,500 582,950 A 303,450
OXSotsdHSZE A X 279,500
= 215,000
< 64,500
SEHEXNY0SHEHFIX 388,830 362,480 26,350
= 299,100
< 89,730
308 MXIEHSOIH 388,830 362,480 26,350
= 299,100
< 89,730
01 HXNHHBHELS 388,830 362,480 26,350
OE+==2HEXNA0tsHHFIXA 199,508
= 153,468
< 46,040
OEQRIXNNAOtSHEFIHXIE 161,242
= 124,032
< 37,210
O822I otsdEH XA 28,080
= 21,600
< 6,480
NGotsdHBHANEXNAH2E 175,000 175,000 0
= 52,424
= 122,576
307 glz2tol & 175,000 175,000 0
= 52,424
< 122,576
11T M Z2XASEX 175,000 175,000 0




AR OOl ER 2 A : OFOI Ml &K & Dt
Hu: HAMBOISRAUDS (AE SN /w0l - HAl)
o9l OIS - ZXNBT (B9 ®R)
- _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
OXNE0otsSHEAEXdHESA 175,000
= 52,424
= 122,576
NS HEH2E XK (REA) 1,039,393 1,071,972 N 32,579
307 212t01 & 110,800 12,600 98,200
11T A EXAIEEX 110,800 12,600 98,200
OXYotsHdEOtSsH S0 3,600
COotsS2HANSE/AITAS 7,200
OXY0tsSHEESAIEZR2 100,000
308 XX SHAHSOIH 928,593 960,372 AN31,779
01 AIXSHMENEXZ 928,593 960,372 N31,779
OXG0tSHEHESAEE 313,488
OXEotsSHdEeEStE2 )X & 23,265
OXE0tSHE Xl AR 24 A& 591,840
OlsSESdSI |22 XS 1,726,522 1,652, 144 74,378
J| 1,332,754
o 393,768
308 XX SHAHSOIH 1,726,522 1,652, 144 74,378
J| 1,332,754
o= 393,768
1 AXNSHHENEXZ 1,726,522 1,652, 144 74,378
OXNYGOlsSESdEBI 2SR 1,726,522
J| 1,332,754
& 393,768
Ols4+== X 118,861,700 123,054,187 N4,192,487
= 108,938,000
& 9,923,700
308 XAHXIGHH SO0l & 118,861,700 123,054,187 N4,192,487
= 108,938,000
&< 9,923,700
01 AIXSHHENEXZ 118,861,700 123,054,187 N4 ,192,487
O0s=Y30H X3 118,861,700
= 108,938,000
= 9,923,700
Ots+=2HE2d 31,600 30,584 1,016
= 28,000
= 3,600
308 MXISHMSOIA 31,600 30,584 1,016
= 28,000
=} 3,600
01 IXHAHIMNEEXTZ 31,600 30,584 1,016
O0sx=EMHEed 31,600
= 28,000
& 3,600




otold == S A OtOI Al & X2 1t
AES OIS SHLES (M =R /0 - HAH)
OIS - ZNET (B9 ®R)
- _ - s
SRR VRE-ER-EICE PRVE - 0f &t e HDE2
SEAMNEBIUN=XNREIZIH2E 150,000 0 150,000
307 @lz2tol & 150,000 0 150,000
AR S XA E X 150,000 0 150,000
O=sgAddzstsfIzId2d 150,000
HHEAESHULBS (MEISER /L0 - HAH) 27,409,350 26,781,863 627,487
2 803,561
Il 6,895,978
= 19,709,811
FAEFHESNE 18,786,340 18,239,493 546,847
2 348,950
Il 2,125,118
= 16,312,272
NZEAASBAAL A (HEALY) 11,600,000 7,700,000 3,900,000
403 TR SHHSA=01H 11,600,000 7,700,000 3,900,000
01 HASHH =R E 11,600,000 7,700,000 3,900,000
OANZE83AHHAIEHE 11,600,000
ANZELHSBALNES(HEAMY) 1,308,000 4,474,000 A 3,166,000
403 TR M SA=01A 1,308,000 4,474,000 23,166,000
01 HXSHH =L 1,308,000 4,474,000 23,166,000
OANZ8LHHAEHES 1,308,000
CHEHAESHMNH2EXE 1,950,000 2,420,000 470,000
306 £ 3 1,950,000 2,120,000 A 170,000
01 243 1,950,000 2,120,000 A 170,000
Ocdads-dd2E N2 1,520,000
O A2ESHdMEMRH2E XS 430,000
davngegdst 61,500 69,000 AT,500
307 glztol & 61,500 69,000 AT,500
M AMSIMNSEER 61,500 69,000 AT,500
OMES3LAEES SR 17,500
OMeletel4h 2=+ 30,000
OFAE230EEY 14,000
BAH=SESAE 103,000 147,200 A44,200
307 212t0l & 69,000 111,200 A42,200
M AMSIMNSER 69,000 111,200 AN42,200
Ost=8ucltal X2 9,000
OZd=Ecdaddoseus 11,000
ONAEAESHUE 7,000
OFagdgefeldagzs 7,000
OF2EYEIDZNE 15,000
O HESALBZIZHE 20,000




A= 00l EdE=E= SN ¢ OtOIAl &8 X1 & 1t
Ho: AMHAUSHAULS (MBS /0l - BAY)
Sl HAUSHESKH (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 34,000 36,000 A 2,000
01 HIXNHHBHNEELES 34,000 36,000 A 2,000
OZ3=EAEHAEER2EXRA 30,000
O34 HAESEH=H 4,000
oMY ESH LS 3,300 45,000 A41,700
308 MtXIEHSOIH 3,300 45,000 A41,700
01 X HHILEXS 3,300 45,000 A41,700
OFAEHAHNSHTNARY 3,300
EEAHESIUSHEHNZ 883,650 835,000 48,650
= 162,650
< 721,000
307 gl2tol & 883,650 835,000 48,650
= 162,650
< 721,000
OMBETANLHE2ZHIES 883,650 835,000 48,650
OZFAESSHEMHIA 883,650
= 162,650
= 721,000
ANZEALESEALEE ALY X T AHBH XX 332,010 321,060 10,950
J| 332,010
308 XXM SO A 332,010 321,060 10,950
J| 332,010
01 XML EES 332,010 321,060 10,950
OANZEAE B AIEE AE X S A XX & 332,010
J| 332,010
HEAHFHXKA(T) 10,000 10,000 0
J| 5,000
< 5,000
307 21201 A 10,000 10,000 0
J| 5,000
= 5,000
11T AL SXAEE = 10,000 10,000 0
O=a3dazz2d 10,000
J| 5,000
< 5,000
HAEENH X2 (AlZ) 32,200 32,200 0
J| 32,200
308 X EHSOIA 32,200 32,200 0
J| 32,200
01 HIXNHHNBMNEES 32,200 32,200 0
OAZEHRARS =24 32,200
J| 32,200
HAHSHALS2IARJS XA (A2) 19,500 19,500 0




AR OOl ER 2 A : OFOI Ml &K & Dt
Hu: AMHAUSAUTS (AE=ST /L0l - HAU)
o9l HAUSHBSI CERED
- — — L=
AR .SN . O (3H) - NBAY - B Ol &F o4 ﬁlgﬁ HRE2
Pl 15,000
== 4,500
308 XHXIEH SO0l A 19,500 19,500 0
J| 15,000
= 4,500
01 AIKSHHEMNEX= 19,500 19,500 0
OFAdLALRA2AR3 X 19.500
J| 15,000
o= 4,500
HAaESO0lel &= 81,000 80,000 1,000
= 81,000
308 MXISHMSOIA 81,000 80,000 1,000
= 81,000
01 IXHHIMNEXS 81,000 80,000 1,000
OFAE S0l X & 81,000
= 81,000
HAEHESEUE XA 126,300 126,300 0
= 105,300
= 21,000
308 AXISHHSOIH 126,300 126,300 0
= 105,300
= 21,000
01 AIXSHMENMNEX= 126,300 126,300 0
OESHEAEHSE0EAE 49,000
= 28,000
& 21,000
OANZEAEHWHSEOE X 2 77,300
= 77,300
HAEGNZOIIM0IE X E 2,263,180 1,920,233 342,947
J| 1,740,908
& 522,272
308 XX SHAHSOIH 2,263,180 1,920,233 342,947
J| 1,740,908
o= 522,272
01 X HHIMNEEXTZ 2,263,180 1,920,233 342,947
OAESNSOIIH 02 A 2,263,180
J| 1,740,908
& 522,272
A AINMEZEZ 1S R2H 4,700 10,000 A5,300
308 AHXIEHMSOIA 4,700 10,000 A5,300
01 AIXSHMEMNEX= 4,700 10,000 A5,300
O AEEOIAIMEZ )2 H 4,700
HAaEeretg| 8,000 10,000 A 2,000
307 giztol A 8,000 10,000 A 2,000




ool == SN ¢ OtOIAl &8 X1 & 1t
AXHLESHLES(MISR/ L0 - HAH)
HAUSSESIE EERED
= - — L=
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
11 AISI S XA E = 8,000 10,000 A 2,000
OHEIHAEYUSEIIRARIAETN 8,000
HAEESESNA 2,526,904 2,785,986 A 259,082
= 65,111
| 404,114
< 2,057,679
SHEAENMNGENCAH2G IR 890,000 1,020,000 A 130,000
307 glz2+ol & 890,000 1,020,000 A 130,000
10 ALSISEXAIEEE2EHEX 890,000 1,020,000 A 130,000
OEFEAEMEEXNEH2EXE 890,000
HAURSHSZLANH2IXNA(E) 5,000 5,000 0
= 2,500
< 2,500
307 21201 A 5,000 5,000 0
= 2,500
< 2,500
11T M3 SXAISEEX 5,000 5,000 0
ORI ZAGXNEAEHY2F R 5,000
= 2,500
= 2,500
HAGURHSIZANSG2I XA (AZ) 13,000 23,400 210,400
= 10,000
S 3,000
308 XXM SO0 A 13,000 23,400 210,400
= 10,000
< 3,000
01 AXSGHBLAEES 13,000 23,400 A 10,400
OFAadzaiSITANS2IXR 13,000
= 10,000
< 3,000
HFLAESEHIKANY 84,890 81,390 3,500
| 84,890
308 AXIEtM S0l A 84,890 81,390 3,500
| 84,890
01 IXNHHBNEES 84,890 81,390 3,500
OFAESEXNEAY 84,890
| 84,890
AU EAMEXA 140,400 200,500 260,100
307 21201 A 140,400 180,500 240,100
11T M3 SXASEEX 140,400 180,500 240,100
OFLAEAGASXA 130,000
O3A2ERR2N=S29 10,400
HAHE2SHHAHRIY(E) 467,586 463,656 3,930




A= 00l EdE=E= SN ¢ OtOIAl &8 X1 & 1t
M ANHAUSHUSS (A=K /00l - Had)
el EAEESESIRA (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Jl 233,793
= 233,793
307 glz2tol & 467,586 463,656 3,930
J| 233,793
= 233,793
11T M SXASEEX 467,586 463,656 3,930
OEEAELERSHUEHR2I XA 467,586
J| 233,793
< 233,793
FrEESs S84 92,912 143,800 A 50,888
201 Let2d] 7,492 11,000 A 3,508
01 At 22l 7,492 11,000 A 3,508
Opt=2Hl 5,492
OstnZEAAL AR SH & 5,492
028+ 2,000
OBt DZEAYMUA| A A5 HH LS 2,000
307 glz2+0ol & 79,000 119,000 A 40,000
11T M SXASEX 79,000 119,000 240,000
Ost A2 E2HAFUSH A 70,000
OFAETA S AL 9,000
308 XX EHSOIA 6,420 13,800 AT7,380
01 HXNHHNBMNEES 6,420 13,800 AT,380
Ogstn=doegdtidasid 6,420
HAHE2SHAHRIG (AZ) 77,931 77,276 655
J| 77,931
308 XXM SO A 77,931 77,276 655
J| 77,931
01 AXHHBISEES 77,931 77,276 655
OZSE AL 22 EXE 77,931
J| 77,931
HAEHSFHMHRH D PR KR (E) 5,000 2,500 2,500
J| 5,000
402 RI2tXt20l M 5,000 2,500 2,500
J| 5,000
02 2IZt 2 AL EZ (01X TH ) 5,000 2,500 2,500
DAL 2 EHR Y P WA X 5,000
J| 5,000
HAGUHSSHMEH DY AWM XE (AZ) 2,500 0 2,500
Jl| 2,500
403 UHXSHHSA=0l& 2,500 0 2,500
J| 2,500
01 HXSHMA2E X 2,500 0 2,500




M ox
40 5 4

OHOIGI & B == SN : 0HOIAI & X ® D
AHHAUSHULSS (AMSSR /0 - HAH)
SPNECE ]

t

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OZSEAELERSEEHD MR 2K 2,500
J| 2,500
ANZELAGLUEEXNEHSE XA 495,000 472,500 22,500
308 XXM SO A 495,000 472,500 22,500
01 AXHHBISEES 495,000 472,500 22,500
OANZEAEAE=XNUEH2E XA 495,000
QIHUSSHG AL AL (T) 70,148 69,536 612
= 35,074
= 35,074
307 21201 A 70,148 69,536 612
= 35,074
= 35,074
11T AL SXAEE = 70,148 69,536 612
OEQHUSSHEG G AB X AL 70,148
= 35,074
< 35,074
EAEHLE2S0IAHA 165,000 183,044 N 18,044
307 glz2tol & 135,000 138,044 A 3,044
11T M SXASE EX 135,000 138,044 N 3,044
OXotsdus=zz2 0" 120,000
(=288 SSMESZR2 LYo 15,000
402 RI2EX20| M 30,000 45,000 A 15,000
01 212t 2 AL E = (REMTH ) 30,000 45,000 A 15,000
OSRELELEZ3EEH T AFHSHI 30,000
OIHUIES MG A AR XI AR (Al 2) 17,537 17,384 153
= 17,537
308 XX EHHSOIA 17,537 17,384 153
= 17,537
01 HIXNHHBNEES 17,537 17,384 153
OZSQHASSHG & E A X AL 17,537
= 17,537
NS PAPNE. 6,096, 106 5,756,384 339,722
= 389,500
J| 4,366,746
< 1,339,860
HE RS 31,500 65,500 A 34,000
308 XXM SO A 31,500 65,500 A 34,000
01 IXNHHBMNEES 31,500 65,500 A 34,000
OHEAS w2 I A& 31,500
TCEAHEH2Y 6,000 10,000 A 4,000
307 21201 A 6,000 10,000 A 4,000




A= 00l EdE=E= SN ¢ OtOIAl &8 X1 & 1t
Ho: AMHAUSHAULS (MBS /0l - BAY)
ool FAE=STXE (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 6,000 10,000 A 4,000
OZHEAENEISFEIZ IR 6,000
NZELAEHEHH2Y 2,700 4,500 A 1,800
308 XXM SOIA 2,700 4,500 A 1,800
01 IXNHHBANEES 2,700 4,500 A 1,800
OANZEBHEAENE LS EIZ B2 S 2,700
ELAEHHHSEAMA=Z XA 29,232 29,232 0
307 21201 A 20,160 20,160 0
11T MISXASEEX 20,160 20,160 0
OSEA2EHEHSMASE 20,160
308 XX EHSOIA 9,072 9,072 0
01 HIXNHHNBMNEES 9,072 9,072 0
OANZEATEHEHSAMASE 9,072
HAHOMA (L) 409,090 407,760 1,330
J| 204,545
< 204,545
307 21201 A 409,090 407,760 1,330
J| 204,545
= 204,545
11T MISAASEX 409,090 407,760 1,330
OEd3AdEordY 409,090
J| 204,545
< 204,545
HAHE A (AlZ) 1,131,510 1,074,360 57,150
J| 1,131,510
308 XX EHH SOl A 1,131,510 1,074,360 57,150
J| 1,131,510
01 HXNHHBHELS 1,131,510 1,074,360 57,150
OANZEAEerE 1,131,510
J| 1,131,510
StNEAAASIAMH2E(Z) 61,508 61,120 388
Jl| 30,754
= 30,754
307 glz2tol & 61,508 61,120 388
J| 30,754
< 30,754
11T M SRASE EX 61,508 61,120 388
OSSN ZHAASKNIACMEH2Y 61,508
J| 30,754
< 30,754
SUZEHAASANAJEHEZE (AlZ) 15,376 15,280 96
J| 15,376




M ox
40 5 4

© Otolol A B s
D AEEAES

E-PSEES B

0x W

LES(AIEX/ 0 - HAH)

(AL

s

EAM : OtOIMI & XI& 1

t

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

308 X EHSOIA 15,376 15,280 96
J| 15,376

01 HIXNHHBHEELS 15,376 15,280 96
OANZSNZdAASINAMEH2E 15,376
J| 15,376

M7 ASNAEEHEZ2 Y 68,266 135,412 ABT7,146
J| 68,266

307 glz2+ol & 68,266 135,412 ABT7,146
J| 68,266

11T MISRASER 68,266 135,412 AB7,146
OEN73ASKadHE2Y 68,266
J| 68,266

HFAUSEBINZIZNHSIAXIA(Z) 83,520 82,900 620
J| 41,760
< 41,760

307 21201 A 83,520 82,900 620
J| 41,760
< 41,760

11T M3 SXAISEEX 83,520 82,900 620
CEHAGSHINEZOH2IE XA 83,520
J| 41,760
< 41,760

HAEUSENZZ OB S2IXA(AI2) 862,403 869, 141 A6,738
J| 663,385
S 199,018

308 X EH SOl A 862,403 869, 141 A6,738
J| 663,385
< 199,018

01 HIXNHHNBNEES 862,403 869, 141 N6,738
OANZEAESUHNZZ D2 862,403
J| 663,385
= 199,018

SNSRI BAUASENENA 63,000 63,000 0

307 21201 A 63,000 63,000 0

11T MISXASER 63,000 63,000 0
mESCIEPIE-PNEEE L PPk 63,000

FiAEUAHRI(E) 648,288 615,754 32,534
J| 229,870
< 418,418

307 21201 A 648,288 615,754 32,534
J| 229,870
< 418,418

10 ALSISXAIEEER2IHEX 648,288 615,754 32,534
OEEA2EdEH2Y 648,288




ANV EEEE S M OLOII & KI® B
HM: HEFAEUSHUBS(AMIEX/L0 - HAA)
chelr HAESX CERED
. o
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 229,870
& 418,418
FAGHAH2Y (AlZ) 417,226 396,835 20,391
J| 341,988
= 75,238
308 XAHXIEHSOIA 417,226 396,835 20,391
J| 341,988
= 75,238
01 AIXSHMEMNEX= 417,226 396,835 20,391
OJe)|dAdasge2y 143,658
J| 117,752
=} 25,906
Oz |83addH2d 273,568
J| 224,236
& 49,332
HNASSHALAEAEXE 506,350 448,500 57,850
= 389,500
& 116,850
308 XX SHHSOIH 506,350 448,500 57,850
= 389,500
o= 116,850
01 AIXSHMENMNEX= 506,350 448,500 57,850
OMASSHEEAEHANMEEINA 506,350
= 389,500
= 116,850
SEOAECHAETGE USSR (E) 362,342 351,966 10,376
J| 251,847
& 110,495
307 2iz2tol A 362,342 351,966 10,376
J| 251,847
& 110,495
11T AISIEXAIEEX 362,342 351,966 10,376
OJcsdscdiAdigdstsia 353,380
J| 247,366
o=t 106,014
OEsHdSsSHEAEGZAIA 8,962
J| 4,481
& 4,481
SEOAZSCHHAEATE LSS (AlIZR) 1,292,397 1,118,724 173,673
J| 1,292,397
308 AHXIEHMSOIA 1,292,397 1,118,724 173,673
J| 1,292,397
01 AIXSHMEMNEX= 1,292,397 1,118,724 173,673
OJANZSdSHHAETEHUSIS A S 1,214,613
J| 1,214,613
OAZstdsHEAEHFAXR 77,784




A=z Ol EdE=E= SN ¢ OtOIAl &8 X1 & 1t
Y AMHLAESHLES(AZSK/ L0 - FHaH)
ool FAE=STXE (=& J)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
| Il 77,784
StNHEAEMEZ IS (AZ) 70,000 0 70,000
| 70,000
403 UHXISHHSA=0l& 70,000 0 70,000
J| 70,000
01 HXESHHMA=E X 70,000 0 70,000
OstnHdEAEdESI324Ed 70,000
| 70,000
ELAEUEHEANEE XA 20,700 0 20,700
| 10,350
< 10,350
301 LPEXZ 20,700 0 20,700
| 10,350
< 10,350
01 MEIBZE 05z 20,700 0 20,700
OEA2FEHEANE=E XA 20,700
J| 10,350
< 10,350
ANZ A =2 QB XI X & 7,498 0 7,498
| 7,498
308 XtXIEHH SOl A 7,498 0 7,498
| 7,498
01 AXNHHBANEES 7,498 0 7,498
OANZAMI=2RABIX XA 7,498
| 7,498
CAS =R ABHXIX A 7,200 0 7,200
| 7,200
307 gl2tol & 7,200 0 7,200
J| 7,200
11T AS S XA E = 7,200 0 7,200
OSAM=R2RBIXIXI& 7,200
| 7,200
HE2HZH (OLOI M A XI& D) (JIEH/ DJIEE) 86,645 0 86,645
PIEE-T 86,645 0 86,645
Jl23Hl 86,645 0 86,645
201 Yet2 | 26,520 0 26,520
01 At 22l 26,520 0 26,520
Oget=2tl 10,200
OERFIANRESZS LY 10,200
E=3=1:1 16,320
OOtOI M A X &SR FEz Al 16,320
202 04 Hl 56,525 0 56,525




AR OOl ER 2N : OOl Ml AKX & 2}
HaM: HH2HAH| (OLOI A AR ) (JIEH/ DIE)
Ee: I3 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
01 2L I 56,525 0 56,525
CJOIOIMI A X &SR FE 0| 56,525
203 €2 F=&d| 3,600 0 3,600
04 ENSIELRF=XH| 3,600 0 3,600
OfASEYIRFAH| 3,600
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oW

334,530

% - 4 14
2B B (EH) - AEAY %Ei HR=2
d=HHIIEE2NSH 50,000 846,400 A 796,400
308 XAHXIEHSOIA 50,000 180,000 A 130,000
11 2J|&2sHUsE 50,000 180,000 A 130,000
OFSHHEIESE 50,000
AHES23EA 50,000 105,000 A 55,000
EoAUEALEMD 50,000 105,000 A 55,000
201 LBt 50,000 105,000 A 55,000
01 AFR 22l bl 50,000 100,000 A 50,000
OBt &H| 50,000
osmsaay 50,000
AUEHLEFE XA 5,041,555 4,524,473 517,082
=2 3,383,462
| 210,685
o= , 447,408
HAEFEIsEHS 31,500 45,000 A 13,500
308 XX SHHSOIH 31,500 45,000 A 13,500
01 X SHHINMNE X 31,500 45,000 A 13,500
OXNYEESHAEFH 31,500
HolELHEHSS 330,000 180,000 150,000
308 XAHXIEHSOIA 330,000 180,000 150,000
01 AIXSHMEAMNEX 330,000 180,000 150,000
OodorsEijed 330,000
ZAHAEMZ LS| A E , 487,956 1,388, 188 99,768
= 736,578
& 751,378
308 XAXIGHSO0|I& , 487,956 1,388, 188 99,768
= 736,578
== 751,378
11 2I2SHUSHEANERAEANY , 487,956 1,388, 188 99,768
OJZA9HEMZ=LoIIHdEH2A ,487,956
= 736,578
o= 751,378
HEMZLoIIMEHESYE 2,981,414 2,621,800 359,614
= 2,646,884
o= 334,530
308 XX SHHSOIH 2,981,414 2,621,800 359,614
= 2,646,884
o= 334,530
01 IXHHIMNEEXTZ ,981,414 2,621,800 359,614
O Mz L6 2,981,414
2,646,884
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M ox
40 5 4

CEEEEEER CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

SOHOHIIH AKX FAEHAH A2 402,658 408,536 A5,878
9] 330,498
< 72,160

308 AHAIEHHSOIA 402,658 408,536 A5,878
J| 330,498
< 72,160

01 HIXNHHNBHELS 402,658 408,536 A5,878
CJSOHOHISH Rt X2 AIE 2SR 285,773
J| 247,380
< 38,393
A0 OloH & EA2E XA 116,885
J| 83,118
< 33,767

< OH OH 1LY o Kt = = K| & 64,276 29,343 34,933
J| 56,954
< 7,322

308 MtXIEHSOIH 64,276 29,343 34,933
J| 56,954
< 7,322

TAXNEHBEEXS 64,276 29,343 34,933
(74 OH OH Il off Xt =2 &= K| & 64,276
J| 56,954
< 7,322

SHHEZXNHE X2 88,691 80,060 8,631
J| 70,304
= 18,387

308 XXM SO0 A 88,691 80,060 8,631
Il 70,304
S 18,387

01 IXNHHBHNEES 88,691 80,060 8,631
OC0HHE Z XS E XA 2 S 66,065
J| 50,255
< 15,810
AN E Z X E X 2ME X &bl 22,626
J| 20,049
< 2,577

SOHOHIH UK HAIE D522 8,574 5,639 2,935
J| 6,596
< 1,978

403 UHXSHHS =0l & 8,574 5,639 2,935
J| 6,596
< 1,978

01 HXSHMA2E X 8,574 5,639 2,935
OSOHOHIIH KRR A0 sE 8,574
J| 6,596
< 1,978




A= ool == A HENSES Y
M OB (MISX/2 - HEL0A)
Sl ogAYSH (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
SOHHOHOtsSE AT SSHANINH2 S X 94,000 0 94,000
9] 47,000
< 47,000
307 gl2tol & 94,000 0 94,000
J| 47,000
< 47,000
10 AL SXNAIEEE2EH EX 94,000 0 94,000
OX0oHIoliotsEAESEXNRLUAMEH2E XA 94,000
J| 47,000
< 47,000
oHbtetI | e 2 G XA 1,389,940 1,366,589 23,351
J| 972,958
=) 416,982
307 glz2+0l & 1,389,940 1,366,589 23,351
J| 972,958
=) 416,982
10 ALSISEXAIEEE2EHEX 1,389,940 1,366,589 23,351
OZ=didtetlde2g X & 1,389,940
J| 972,958
< 416,982
SdEANHANE 24 ESSHSRUHH ST 74,300 74,900 A 600
J| 52,010
< 22,290
307 21201 A 74,300 74,300 0
J| 52,010
= 22,290
11T AL S XA E = 74,300 74,300 0
OZ=didtetdI BTN ASSRUHE E XA 74,300
J| 52,010
< 22,290
HdEZHOHNESAE2I XA 635,260 598, 260 37,000
Jl 301,173
< 334,087
307 glz2tol & 635,260 598, 260 37,000
J| 301,173
< 334,087
10 AL SXAIEEE 2 H EX 625,260 588,260 37,000
O0sSEAHEXNNEH2 S AL 476,540
J| 206,092
< 270,448
O3Uad=2EX& 148,720
Jl| 85,081
< 63,639
11T M SXAISE EX 10,000 10,000 0
O8ZHESALEANEXNREZ 10,000
J| 10,000




AR olol0iE =R SN OEIEHED
HM: HHII=EEHM(AMEEX/BEE - IIELHY)
ool RS CER-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
HAEZHfAXN2IIET2 028 (5) 14,538 14,538 0
J| 10,177
& 4,361
307 2Iz2t0| A 14,538 14,538 0
Jl 10,177
= 4,361
11 A EXAIEEX 14,538 14,538 0
OJd=ZdIolAx ST 082d9 14,538
J| 10,177
=} 4,361
HEANNAXNZIIEZT 20 (A 2) 57,425 57,425 0
J| 50,883
& 6,542
308 XNXIGHSO0l& 57,425 57,425 0
J| 50,883
& 6,542
01 HXHHBIMNEXS 57,425 57,425 0
OMdZZ0AXNSI2ET)HS2A 57,425
J| 50,883
o= 6,542
HAEZHANESAEIsESD 8,174 11,800 AN 3,626
J| 4,087
=} 4,087
402 SI2tXHE0| & 8,174 11,800 AN 3,626
J| 4,087
= 4,087
02 CIZXIE A E X (0| XM THH) 8,174 11,800 N 3,626
OJa=Solidiet M) s 8,174
J| 4,087
& 4,087
AEZHAMASGASAXNSH 862,454 805,548 56,906
J| 596,534
o=t 265,920
308 XHXIEH SOl A 862,454 805,548 56,906
J| 596,534
& 265,920
01 AIXSHHENMNEX= 862,454 805,548 56,906
OdZdadALi2dIS 634,064
J| 433,356
& 200,708
OIS MG A2AXNR 228,390
J| 163,178
& 65,212
HZ AT XS B Y| X 52,944 53,126 A 182
J| 46,914
o= 6,030




AR olol0iE =R SN OEIEHED
HM: HHII=EEHM(AMEEX/BEE - IIELHY)
ool RS CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
308 XHXIEHSO|A 52,944 53,126 A 182
J| 46,914
& 6,030
01 AIXSHMEMNEX= 52,944 53,126 A 182
O8dZd0oi A S A& 51,817
J| 45,914
=} 5,903
Od=Z& 0o AH2tEH A& 1,127
J| 1,000
& 127
OlsdZg X 6,100 6,100 0
307 2I12t0| & 6,100 6,100 0
11 A EXAIEEX 6,100 6, 100 0
OPXNHNEE A2 2N A 6,100
JIEZEIIHANENEsEEZZ)HE2H 16,960 16,960 0
J| 15,028
& 1,932
308 XHXIEH SO0l A 16,960 16,960 0
J| 15,028
& 1,932
01 AIXISHHEMNEX= 16,960 16,960 0
oA ZE)of A uEXN T2 ) dH2d 16,960
J| 15,028
o= 1,932
HAE2 283 136HEHSE X 734,060 740,770 A6,710
J| 315,990
= 418,070
307 QI2t0| ™ 734,060 740,770 A6,710
J| 315,990
= 418,070
10 A SXNANEEHESIHEX 734,060 740,770 N6,710
OJHAE2 28313662 F A& 734,060
J| 315,990
& 418,070
2283 1366HEHIIsEZ 12,600 30,000 A 17,400
J| 6,300
= 6,300
402 BI2H X 20| M 12,600 30,000 A 17,400
Dl 6,300
= 6,300
02 QIZEXIEAISE X (0| XM THL) 12,600 30,000 A 17,400
[J1366HIE DI sE X 12,600
J| 6,300
= 6,300
ZANHOLATHNR 2L 86, 100 84,414 1,686




AR oofol0iH =R SN HEEH=D
H: LIS HHM(MESN/ES - HELAHY)
Sl ogAYSH (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 52,779
=) 33,321
307 glz2tol & 86,100 84,414 1,686
J| 52,779
=) 33,321
11T M SXASEEX 86,100 84,414 1,686
O=ZSIHHEFAHARNIAME 2L XA 86,100
J| 52,779
< 33,321
ZATHHEF=HAAAL (XH2) 2,011 0 2,011
J| 2,011
402 212t X201 & 2,011 0 2,011
J| 2,011
02 RIZE X2 AL EZ (OIS ) 2,011 0 2,011
OZELGIHHEF=HAALUESS 2,011
J| 2,01
HE=dIi R ESXA 152,924 150,291 2,633
307 gl2tol & 142,424 139,791 2,633
11T AL S XA E X 142,424 139,791 2,633
OW&E2 28313662 S LG M2 X 77,920
Z2E012Hdag)lsH st 64,504
308 XtXIEHH SOl A 10,500 10,500 0
01 X HHILEES 10,500 10,500 0
RSIHd2H 10,500
NHEEZELNHNNESAE2E X 369,027 312,070 56,957
J| 316,892
< 52,135
308 AHAIEHHSOIA 369,027 312,070 56,957
J| 316,892
< 52,135
01 HIXNHHNBMNEELS 369,027 312,070 56,957
OGN EZLINNESAE2EXA 310,658
J| 258,983
< 51,675
ONEZHMNNESAIEL AN SH =3 X4
HI Xl & 24,329
J| 24,329
Ot =Z4Toi A PSSl 4,040
Jl 3,580
< 460
O E =2 UE AXRNEXNRS 30,000
J| 30,000
NEZLUHNNESAEIsELY 2,938 0 2,938
J| 2,260




VEEEES (29 & 9)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t

< 678

403 MtXISHHSA=0l& 2,938 0 2,938
J| 2,260
< 678

01 XM A=2E X 2,938 0 2,938
ONEZSENNNESAEIISES 2,938
J| 2,260
< 678

I ZHIi XS XA (E) 12,447 13,755 A 1,308
J| 8,713
< 3,734

307 2I2t0 & 12,447 13,755 1,308
J| 8,713
< 3,734

11T MISRASEX 12,447 13,755 A1,308
O =LA ASH XA (E) 12,447
J| 8,713
= 3,734

I ZH Ui e 2 K& (X&) 12,640 18,672 26,032
Jl| 11,200
< 1,440

308 AAIEHHSOIA 12,640 18,672 26,032
J| 11,200
< 1,440

01 AXSHBLELS 12,640 18,672 26,032
O ZSToi N S X2 (AZ) 12,640
J| 11,200
< 1,440

IS ZHUGH X2 =S 2 08 (X&) 37,070 37,920 A 850
J| 32,847
< 4,223

308 XXM SOl A 37,070 37,920 A 850
J| 32,847
= 4,223

01 IXNHHBMNEES 37,070 37,920 A 850
OIHEZGIi X2 L2 0H2 IR 37,070
J| 32,847
< 4,223

IEEHALUEGARERA 1,069,005 935,636 133,369
J| 737,298
= 331,707

308 XtXIEHH SOl A 1,069,005 935,636 133,369
J| 737,298
< 331,707

01 X HHILEXS 1,069,005 935,636 133,369




AR oofol0iH =R SN HEEH=D
H: LIS HHM(MESN/ES - HELAHY)
ool RS CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
O =a48423 0 768,345
J| 519,424
< 248,921
DSgaega23 XA 300,660
J| 217,874
< 82,786
SHO0NESHEA2S N2 37,800 37,800 0
308 MtXIEHMSOIH 37,800 37,800 0
01 HXNHHBHELS 37,800 37,800 0
O=bI0IXNE&EALA2SIA 37,800
StlMLE A NS 29,000 0 29,000
= 14,500
< 14,500
307 BI20| & 29,000 0 29,000
2 14,500
< 14,500
11T M3 2XAIS EX 29,000 0 29,000
sE N PEPEEEE 29,000
= 14,500
< 14,500
FotsdEA2ELHHADN S 40,000 69,000 229,000
= 20,000
< 20,000
307 21201 A 40,000 69,000 A 29,000
= 20,000
< 20,000
11T M3 SXAISEEX 40,000 69,000 A 29,000
OZHOtsEAFHNANS 40,000
= 20,000
< 20,000
e RUAOIIN=ZHUT LSS 96,152 97,050 2898
= 48,076
< 48,076
307 gl2tol & 96,152 97,050 A 898
= 48,076
= 48,076
11T M SRAISE EX 96,152 97,050 A 898
OgEr=0 R 0= ns2d 96,152
= 48,076
< 48,076
AYNZ25E 4 27,725,215 26,376,274 1,348,941
2 353,340
as 3,152,000
J| 19,059,502
=) 5,160,373




M ox
40 5 4

ool SR A HEIF
D HAIIEE
D AHAABIIE25I R A

oo

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
IIEASF2AUSX A 459,342 411,060 48,282
= 353,340
= 106,002
308 XAHXIEHSOIA 459,342 411,060 48,282
= 353,340
= 106,002
01 AIXSHMENMNEX= 459,342 411,060 48,282
OJtES A5 X & 459,342
= 353,340
=} 106,002
ALNELU2SIIENALAEHSY 4,856,345 3,815,461 1,040,884
J| 3,735,650
& 1,120,695
308 XNXIGHSO0l& 4,856,345 3,815,461 1,040,884
J| 3,735,650
& 1,120,695
01 HXHHBIMNEXS 4,856,345 3,815,461 1,040,884
OJHZLINE R IIIERNLHHES AL AR 4,856,345
J| 3,735,650
o= 1,120,695
SIEQIIENEHY=RHI SN 15,759,930 14,382,395 1,377,535
J| 14,660,400
=} 1,099,530
308 AMXISHMSOIA 15,759,930 14,382,395 1,377,535
J| 14,660,400
= 1,099,530
01 AIXSHMENEXZ 15,759,930 14,382,395 1,377,535
OS2 NEHL=EH S 15,759,930
J| 14,660,400
& 1,099,530
SIRERINEFESIANELdATGAE SN 47,580 53,066 N5,486
J| 36,600
o=t 10,980
308 XHXIEH SOl A 47,580 53,066 N5,486
J| 36,600
& 10,980
01 AIXSHHENMNEX= 47,580 53,066 N5,486
OS2 NSEINAELANNMNESOYS XA 47,580
J| 36,600
& 10,980
SFEEIIEXIA (KA 677,610 810,900 A 133,290
308 XAHXIGHH SO0l & 677,610 810,900 A 133,290
01 RXEBHMBARES 677,610 810,900 133,290
OS2 2IEEAXNKNEAEEZ 30,000
Ot IIsg sAHSH| 263,760




M ox
40 5 4

224 ZH . S(3H) - Al il Bl RE2

Ost2H=EX& 383,850

FLIUAEENNANEISES 329,969 174,837 155,132
J| 253,822
< 76,147

403 MtXISHHE X201 E 329,969 174,837 155,132
J| 253,822
< 76,147

01 AXSHMA=2EE 329,969 174,837 155,132
OetR2HE=X AL 329,969
J| 253,822
= 76,147

SEHE=EXNAE00I=S MU AKX A 144,178 151,033 A6,855
2l 127,753
< 16,425

308 MtXIEHSOIH 144,178 151,033 26,855
J| 127,753
< 16,425

01 HXNHHBHELS 144,178 151,033 A6,855
Ost2LNE=STNAELLX0I0ISSHAEI AR A 144,178
J| 127,753
< 16,425

FLUNEEXNANEHIAIZERR 8,117 7,108 1,009
J| 8,117

308 XX EHSOIA 8,117 7,108 1,009
Jl| 8,117

01 HIXNHHBNEES 8,117 7,108 1,009
OSRENE=SXNALHIAN SR 8,117
J| 8,117

SSHEBIIEEFHIZ 64,800 42,900 21,900
J| 64,800

308 XXM SOIA 64,800 42,900 21,900
J| 64,800

01 AXHHILEES 64,800 42,900 21,900
OJZsMeItEamaed 64,800
J| 64,800

SR RINESXIAIE X2 (XA 387,534 420,584 33,050

201 Let24dH] 6,330 0 6,330

01 At 22/l 6,330 0 6,330
O2dsg 6,330
OMBISXALESHE 6,330

307 21201 A 45,000 45,000 0

11T MISRASEER 45,000 45,000 0
OetR2HE=X AL 15,000




AR oofol0iH =R SN HEEH=D
A GHIISHH (MK /ST - HSL0Y)
R HAUSIE2F XS (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
OS2 ISEXNANELAXAIS S ETZ OS]
< 30,000
308 XX G SO|IA 336,204 375,584 A 39,380
01 AIXSHMENMNEX= 336,204 375,584 A 39,380
St R2IIE=EXNAESALASE 15,372
Ot 2I=E= X Al 320,832
HAESEITNE XA 157,466 136,666 20,800
Dl 146,480
& 10,986
308 XX SHHSOIH 157,466 136,666 20,800
J| 146,480
o 10,986
01 AIXSHMEMNEXZ 157,466 136,666 20,800
OFAESEDINE X 157,466
J| 146,480
& 10,986
HAYNELENAHEI 22 2 33,644 33,264 380
J| 25,880
&< 7,764
308 XX EHSOIA 33,644 33,264 380
J| 25,880
&< 7,764
01 AIKSHHEMNEX= 33,644 33,264 380
OdSEDNEZETNA 33,644
J| 25,880
o= 7,764
IEHgHAEY 4,228,700 4,550,000 A 321,300
Fag 3,152,000
= 1,076,700
403 XX SHHS K20 & 4,228,700 4,550,000 A 321,300
g 3,152,000
= 1,076,700
01 MXHHNE2BE = 4,228,700 4,550,000 A 321,300
OJIEHdEHAHE (ZES 4,228,700
Fag 3,152,000
o=t 1,076,700
IFERGCSINEsHAIY 570,000 1,312,000 A 742,000
308 XX SHAHSOIH 570,000 0 570,000
11 BI2SUHUEHEAEAE AT Y| 570,000 0 570,000
OJIES&RSSIN AL 570,000
CIRSIE M (MBEX/ES - HELHA) 5,955,391 6,516,312 A 560,921
J| 3,673,582
= 2,281,809
At 23tAle 2 5,955,391 6,516,312 A 560,921




224 ZH () - HRAY - Ol &t o4 San Hl B E2
Il 3,673,582
< 2,281,809
CHE2E X2 (XA 1,143,449 1,689,250 A 545,801
201 LB-2d| 28,000 38,000 210,000
01 At 2t 2l 28,000 38,000 A 10,000
Ogpt=2tl 24,000
OU=sN=EXNd N7 L2 Wi &2t 10,000
O2=Q =0l MEOFLH IOl E X = 14,000
O2ds=¢ 4,000
OUEFINEXNEAT LIS AT EHLAR
=g 4,000
307 21201 A 455,000 535,000 80,000
11 AMSSIAIEE S 455,000 535,000 280,000
OZ4=2CUENESXNKLHI R 155,000
OCG2sLAXNLHLLI S 70,000
OOEstHsEISHHU S 32,000
OOt =SS = N E AL X & 50,000
OO RSMAARUSE 20,000
OZE0I2HL0ISHOHZ AL Xl &
el) 70,000
OSEeIMEASE XA 8,000
OZE0IB8HE=2 AT EALS 50,000
308 XXl EHH SOl A 660,449 1,107,650 AN 447,201
01 AXSHBLELS 660,449 1,107,650 AN 447,201
OZS0I2HE0SHAAHTAIL eI E S ALY 330,881
OUESNEs2H42dE 97,200
OCG2SHE=RNAESAANY 184,968
D202 Hdu=sX& 6,000
OUEHEEFEZZ2OH2I R 41,400
ZYNH0IHLEESAIE2SE XA 497,776 480,319 17,457
| 418,474
< 79,302
308 XXM SO0 497,776 480,319 17,457
| 418,474
< 79,302
01 AXNSGHBLAEES 497,776 480,319 17,457
OZHA0H0I=HEESAE2S XA 497,776
| 418,474
< 79,302
ZATIH0IFHEES AN E 2| 11,850 10,270 1,580
| 10,500
< 1,350
403 XAXISH M S K201 A 11,850 10,270 1,580




AR oofol0iH =R SN HEIEH=D
HM: 2 EM (A =EX/BEE - IEL0HY)
Ee: AASIURAI = A (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Pl 10,500
& 1,350
01 XIS A=Z2E X 11,850 10,270 1,580
[(JZS0H0IFTHEES A otAN B 2HH| 11,850
Jl 10,500
= 1,350
CI2IISU2WNSAMNE2H (XM 68,400 70,200 A 1,800
308 MXISHMSOIA 68,400 70,200 A 1,800
01 HXHHIMNEXTZ 68,400 70,200 A 1,800
OUSSIIEL 2N EAESAE 68,400
CEstEXddg2dY 375,245 535,825 A 160,580
Jl 276,400
= 98,845
307 2Iz2t0| & 45,500 44,100 1,400
Dl 22,750
o=t 22,750
11T AISIEXAIEEX 45,500 44,100 1,400
OAHEHAHSY 45,500
J| 22,750
& 22,750
308 XAXISH SO0l & 329,745 491,725 A 161,980
J| 253,650
& 76,095
01 AIXSHHENEXZ 329,745 491,725 A 161,980
COC2sIIEXNJNEHSA 329,745
J| 253,650
o= 76,095
CI2SIIIEELSIALE 3,858,671 3,685,736 172,935
J| 2,968,208
o 890,463
308 XX SHHSOIH 3,858,671 3,685,736 172,935
J| 2,968,208
= 890,463
01 AIXSHMENEXZ 3,858,671 3,685,736 172,935
OUSSIIIEELSAIY 3,858,671
J| 2,968,208
& 890,463
HEMSHAH (A=) (IIEH/IIEH 81,760 189,219 A 107,459
JlE&dl 81,760 189,219 A 107,459
Jl2 &l 81,760 189,219 A 107,459
201 et d| 24,960 82,450 AN57,490
01 AFR 22| H| 24,960 81,610 A 56,650
Ogsrs=2H| 9,600




RS SN HEEH=D
DM ESHHY (OIS S =) (IIEH/IIE)

M ox
40 5 4

»Jl23l (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

OMRE2ELLAH2EZ7YS 9,600
[E=3=3:] 15,360
OYRFAS A 15,360

202 04l 53,200 91,169 A 37,969

01 = LH o4 1l 53,200 91,169 A 37,969
AR =X 53,200

203 ¥ S =&l 3,600 11,400 A7,800

04 FANSEHE=LH| 3,600 4,800 A 1,200
[J20% Ol ot 3,600




